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Q.1 How many phases are there in circuit switching:


(a) 2


(b) 3


(c) 4


(d) 5

Q.2 FDM is used in _________ communication:


(a) Analog


(b) Digital


(c) Analog / Digital


(d) none of these.

Q.3 Bridges and Switches work at this layer:


(a) Physical


(b) Data Link


(c) Network


(d) Transport

Q.4 Routers work at this layer:


(a) Physical


(b) Network


(c) Transport


(d) Session

Q.5 Which one is layer 4 protocol of OSI:


(a) TCP


(b) IP


(c) HTTP


(d) FTP

Q.6 Who firstly demonstrated WDM system:


(a) Bell labs


(b) IBM


(c) AT & T


(d) none of these

Q.7 T-1 uses _________


(a) TDM 


(b) FDM


(c) WDM


(d) none

Q.8 The distance between the link stations is also known as :


(a) station length


(b) hop length


(c) wavelength


(d) none of these

Q.9 Latency is synonymous to _________


(a) Efficiency


(b) isochronous


(c) delay


(d) none of these

Q.10 Switches are fast multi-port ________ that provides economical way to resolve

         network congestion:

(a) Hubs

(b) Bridges

(c) Router

(d) Repeater

Q.11 The ALOHA network was created at


(a) AT&T Bell labs


(b) University of Hawaii


(c) MIT


(d) none of these

Q.12 Network layer is the topmost layer in the _________


(a) LAN


(b) MAN


(c) Subnet


(d) WAN 

Q.13 Communication subnet is the set of all _______


(a) Repeaters


(b) Bridges


(c) Routers


(d) Gateway

Q.14 DLL provides services directly to _______ layer:


(a) Physical


(b) Network


(c) Transport


(d) none of these

Q.15 A single parity bit is _____ to the data block:


(a) preceded


(b) appended


(c) inserted in


(d) none

Q.16 TCP provides _______ type of data delivery


(a) connection oriented


(b) connectionless


(c) any of these


(d) none

Q.17 TCP segment consist of ________ segments:


(a) Two


(b) Three


(c) Four


(d) none

Q.18 UDP supports _______ and ________ of packets:


(a) point to point , broadcast


(b) broadcast , multicast


(c) unicast , multicast


(d) none of these

Q.19 TFTP stands for:


(a) TeleFTP


(b) TempFTP


(c) TrivialFTP


(d) none

Q.20 Ports 1 through 1023 are named ________ ports


(a) well known


(b) worst known


(c) registered ports


(d) ephemeral port

Q.21 UDP header consist of _______ fields


(a) 4


(b) 5


(c) 6


(d) 2

Q.22 Bridges uses _____ address of devices on connected rules :


(a) MAC


(b) IP


(c) Port


(d) none

Q.23 The communication between the system and switch is said to be ______


(a) half – duplex


(b) full – duplex


(c) duplex


(d) none of these

Q.24 Dedicated connection is present in :


(a) circuit switching


(b) message


(c) packet


(d) none

Q.25 Circuit switching is used in ________


(a) LAN


(b) Telephone


(c) MAN


(d) WAN 

Q.26 GPRS uses _______


(a) Packet


(b) Message


(c) Circuit


(d) none

Q.27 The core has a diameter in the range of _______ to ______ micrometer.


(a) 8 , 100


(b) 800 , 8000


(c) 100 , 8


(d) 10 , 1000

Q.28 Which of the following is not a network :


(a) PAN


(b) LAN


(c) MAN


(d) WAN


(e) None of these

Q.29 Cable television network is an example of :


(a) LAN


(b) MAN


(c) WAN


(d) PAN

Q.30 _______ is the standard for wireless LAN’s :


(a) IEEE 802.3


(b) IEEE 802.5


(c) IEEE 802.11


(d) IEEE 802.10

Q.31 Multiplexing is needed at _____ layer :


(a) Physical


(b) Transport


(c) Network


(d) Application

Q.32 Modulator / Demodulator are used at :


(a) Network layer


(b) Transport layer


(c) Physical layer


(d) Data link layer

Q.33 Twisted pair cable is most common for :


(a) Analog signal 


(b) Digital signal


(c) Analog and Digital


(d) none

Q.34 Which of the following is are not the component of a computer network :


(1) nodes


(2) NOS


(3) NIC


(4) LAN s/w


(a) only 1


(b) only 1,2


(c) only 1,4


(d) none of the above

Q.35 Which one is synonymous to workgroup architecture :


(a) Active network


(b) client server


(c) peer to peer


(d) none

Q.36 Which of the following is not an organization who set standards :


(1) ITU


(2) ANSI


(3) VESA


(4) ISO


(a) only 1


(b) only 1,3


(c) only 1,3,4


(d) none

Q.37 Cut – through switching is much faster than ________ switching :


(a) store and forward


(b) fragment free


(c) both


(d) none

Q.38 The layer which transfers data between adjacent network nodes in WAN or on the 

          same LAN is :

(a) network layer

(b) transparent layer

(c) data link layer

(d) none of these

Q.39 Ethernet and HDLC protocols are found at :


(a) network


(b) transparent


(c) physical


(d) data link layer

Q.40 Static routing is referred to as ______ and dynamic is referred to as _____


(a) adaptive , non – adaptive


(b) non – adaptive , adaptive


(c) none of these


(d) any way possible.
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Q.41 Ethernet incorporates both ________ & ________ layer 


(a) Physical , DLL


(b) Session , Transport


(c) Presentation , Application


(d) none of these

Q.42 HDLC and ADCCP are found in


(a) Physical layer


(b) Data link layer


(c) Network


(d) Presentation

Q.43 Attenuation is ______ for optical fiber than for ____


(a) lower , coaxial


(b) higher , unguided


(c) higher , satellite


(d) higher , coaxial

Q.44 Coaxial and twisted pair system generally have _______ every few kms.


(a) amplifier


(b) repeaters


(c) routers


(d) bridges

Q.45 Broadcast networks have 


(a) single comm. channel


(b) multiple communication channel


(c) can be anyone


(d) can be both.

Q.46 Out of ________ and ________ , ________ works on broadcasting :


(a) switches , repeaters, switches


(b) hub , switch , hub


(c) router , bridges , router


(d) none of the above

Q.47 Which of the following functions are performed by DLL :


(a) To provide well defined interface to network layer.


(b) To deal with layer transmission errors


(c) Regulating the flow of data


(d) all of the above.

Q.48 Match the following :


(1) 10 BASE 5

(a) 2000 m


(2) 10 BASE 2

(b) 500 m


(3) 10 BASE –T 
(c) 185 m 


(4) 10 BASE – F
(d) 100 m 


(a) 1-a , 2-b , 3-c , 4-d 


(b) 1-b , 2-c , 3-d , 4-a 


(c) 1-c , 2-a , 3-d , 4-b 


(d) 1-b , 2-a , 3-c , 4-d

Q.49 Network layer provides user – defined classes of services namely ____ and ____


(a) connectionless and connection oriented


(b) point to point and broadcasting


(c) point to point and connection oriented


(d) broadcasting and connection oriented

Q.50 UDP stands for :


(1) User Datagram Protocol


(2) Universal Datagram Protocol


(3) Unreliable Datagram Protocol


(4) none of these

(a) only 1


(b) only 1,2,3


(c) only 4


(d) only 3

Q.51 Transport layer is responsible for :


(1) end – end connection


(2) error recovery


(3) flow control


(4) ensuring complete data transfer


(a) only 1


(b) only 1,3


(c) only 1,4


(d) all of the above

Q.52 Types of e-commerce :


(1) G2C


(2) B2C


(3) P2P


(4) C2C

(a) only 2,4


(b) all of the above


(c) none of the above


(d) only 1

Q.53 The collection of communication lines and routers is called :


(a) communication subnet


(b) WAN


(c) MAN


(d) none

Q.54 Example of layer 3 protocol is :


(a) IP


(b) TCP


(c) UDP


(d) FTP

Q.55 Signals at lower frequencies are ______ and at higher frequencies are _____


(a) bidirectional , unidirectional


(b) omni directional , focused


(c) focused , omni directional


(d) none

Q.56 State which of the categories of applications have been important for optical fiber :


(a) Long Haul Trunks


(b) Metropolitan Trunks


(c) Subscriber Loops


(d) all of the above


(e) none

Q.57 Computer networks can be used :


(1) to provide interaction b/w a person and remote database.


(2) to have alternative sources of supply.


(3) to provide peer to peer systems.


(4) all of the above

(a) only 4


(b) only 1


(c) only 2,3


(d) only 1,3

Q.58  TCP / IP model contains :


(a) 4 layers


(b) 5 layers 


(c) 4-5 layers


(d) none of these

 Q.59 Packet switched networks, such as ________ 

          circuit switched networks, such as _________


(a) internet , intranet


(b) intranet , voice telephone network


(c) internet , voice telephone network


(d) none  

Q.60 Match the following :


(1) layer 1 (tcp / ip)

(a) internetworking layer


(2) layer 4 (osi)

(b) session layer


(3) layer 2 (tcp / ip)

(c) network access layer


(4) layer 5 (osi)

(d) transport layer


(a) 1-b ,2-c ,3-d ,4-a


(b) 1-c ,2-d ,3-a ,4-b


(c) 1-c ,2-d ,3-b ,4-a


(d) 1-d ,2-b ,3-c ,4-a

MARKS 4

Q.61 Match the following :


(1) wifi

(a) 802.15.1


(2) Bluetooth

(b) 802.16


(3) zigbee

(c) 802.11


(4) wima

(d) 802.15.4


(a)1-a,2-b,3-c,4-d


(b)1-c,2-a,3-d,4-b


(c)1-a,2-b,3-d,4-c


(d)1-a,2-c,3-b,4-d

Q.62 State whether T / F :


(1) Attenuation is low for optical fiber that coaxial cable.


(2) For guided the transmission capacity depends on data rate.


(3) Twisting doesn’t reduces crosstalk.


(4) The optical fiber can conduct light even when bented.

(a) 1-f ,2-t ,3- t,4-t


(b) 1- f,2- t,3- t,4-f


(c) 1-t ,2- t,3-f ,4-f


(d) 1-t ,2-t ,3-f ,4-t  

Q.63 Match the following :


(1) 2 ghz – 40 ghz

(a) electromagnetic spectrum


(2) 30 mhz – 1 ghz

(b) infrared


(3) 3*1011 – 2*1014 hz

(c) microwave


(4) 3 khz – 300 ghz

(d) radio


(a) 1-b ,2-c ,3-d ,4-a


(b) 1-c ,2-d ,3-b ,4-a


(c) 1-c ,2-b ,3-d ,4-a


(d) 1-d ,2-b ,3-c ,4-a

Q.64 State whether T / F :


(1) Thick coax uses vampire tap and a drop cable to connect to n/w.


(2) Coaxial cable is used to transmit both digital and analog.


(3) For digital signaling , repeaters are needed every km.


(4) Optical fiber uses the principal of total internal reflection.


(a) 1-t,2-t,3-t,4-f


(b) 1-t,2-t,3-t,4-t


(c) 1-f,2-f,3-f,4-f


(d) 1-f,2-f,3-t,4-t 

Q.65 Match the following (more than one option possible):


    Distance 

          Network
(1) 100 m


(a) WAN 

(2) 100 km


(b) LAN

(3) 1000 km


(c) MAN

(4) 10,000 m




(a) 1-b,2-a,3-a,4-c

(b) 1-a,2-b,3-b,4-c

(c) 1-a,2-a,3-a,4-a

(d) 1-a,2-a,3-b,4-b

Q.66 State whether T / F :


(1) Glasses and plastics can be used to make optical fibers.


(2) The core has a diameter in the range of 8-100 micrometer.


(3) single mode is typically used for long distance applications, including 

                  telephone and cable.

(4)graded index fibers are used in LAN.

(5)there is a high degree of security from eavesdropping in optical fiber.

(a) 1-t,2-t,3-t,4-t,5-t

(b) 1-f,2-f,3-f,4-f,5-f

(c) 1-t,2-f,3-t,4-f,5-t


(d) 1-f,2-f,3-f,4-t,5-t

Q.67 Match the following (more than one option possible)

(1) repeater

(a) layer 2

(2) hubs

(b) layer 7

(3) switches

(c) layer 1

(4) bridge

(d) layer 3

(a) 1-c,2-c,3-a,4-a

(b) 1-a,2-b,3-c,4-d

(c) 1-a,2-a,3-c,4-c

(d) 1-a,2-a,3-b,4-b

Q.68 State whether T / F :


(1) repeater is used or placed between two lan’s.


(2) small hubs with 4-5 ports are referred to as workgroups hubs.


(3) hubs helps to amplify the incoming signal.


(4) usb enables bi-directional data transfer.


(a) 1-t,2-t,3-t,4-f


(b) 1-f,2-t,3-f,4-t


(c) 1-f,2-f,3-t,4-t


(d) 1-f,2-t,3-t,4-t

Q.69 Match the following :


     Tag


Example  

            (1) P2P

(a) govt. tax forms.

            (2) B2B

(b) file sharing


(3) C2C

(c) car manufacturers order tyres


(4) G2C 

(d) auctioning second hand products.

(a) 1-b,2-c,3-d,4-a


(b) 1-c,2-d,3-b,4-a


(c) 1-a,2-d,3-b,4-c


(d) 1-a,2-d,3-b,4-c

Q.70 Match the following :

(1) 1000 BASE - T


(a) balanced copper cabling 


(2) 1000 BASE - SX 


(b) single mode fiber 


(3) 1000 BASE - CX 


(c) UTP


(4) 1000 BASE - ZX 


(d) multi mode fiber.

(a) 1-a,2-b,3-c,4-d


(b) 1-a,2-b,3-d,4-c


(c) 1-a,2-c,3-d,4-b


(d) 1-c,2-d,3-a,4-b

Q.71 Out of these which possibility is for DLL :


(a) unacknowledged connectionless service


(b) acknowledged connectionless service


(c) acknowledged connection oriented service


(d) all of the above.

Q.72 State whether T / F :


(1) FDM is used in analog communication.


(2) WDM helps data flow at the speed of few mbps , not more than that.


(3) TDM is protocol sensitive.


(4) TDM is more efficient than FDM.


(a) 1- t, 2- f, 3-f ,4-f


(b) 1- f, 2-f , 3-f ,4-t


(c) 1- t, 2-f , 3-f ,4-t


(d) 1-t , 2-t , 3-f ,4-t 

Q.73 Which is the data link layer protocol :


(1) ADLC


(2) BSC


(3) SDLC


(4) HDLC


(a) only 1,2


(b) only 1,3,4


(c) only 4


(d) all of the above

Q.74 WAN & LAN can be connected together using technology :


(1) POTS


(2) PSTN


(3) Frame Relay


(4) ATM

(a) only 1


(b) only 2,4


(c) only 3


(d) all of the above 

Q.75 Host Bus Adapters are used in :


(a) Local Area network


(b) Storage Area network


(c) Wide Area network


(d) Metropolitan Area network

SOLUTIONS :

(1)B
(2)A
(3)B
(4)B
(5)A
(6)A
(7)A
(8)B
(9)C
(10)B

(11)B
(12)C
(13)C
(14)B
(15)B
(16)A
(17)A
(18)B
(19)C
(20)A

(21)A
(22)A
(23)A
(24)A
(25)B
(26)A
(27)A
(28)E
(29)B
(30)C

(31)A
(32)C
(33)C
(34)D
(35)C
(36)D
(37)A
(38)C
(39)D
(40)B

(41)A
(42)B
(43)A
(44)B
(45)A
(46)B
(47)D
(48)B
(49)A
(50)B

(51)D
(52)B
(53)A
(54)A
(55)B
(56)D
(57)A
(58)C
(59)C
(60)B

(61)B
(62)D
(63)B
(64)A
(65)A
(66)A
(67)A
(68)B
(69)A
(70)D

(71)D
(72)C
(73)D
(74)D
(75)B
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